West Kirhy Primary School Why Choose Wirral? Past, Present, Futuwre Years 5 & 6 (Summer 2)
Prior Learning, The Wirral Peninsula Vocahulary Dozen
What are the 16 compass points? human The impact and behaviowr of
What can you tell me about time zones? geogruphy, people and how they, relate to the
What are the main rivers in the UK? physical world.
Name and locate at least 8 counties in England. physical Looks at the natural processes of
Name at least 6 cities in England, geography, the Earth. such as climate.
Where are the main mountain regions in the UK? environmental ReLaM@écrthznuuwaL\Arm*{d,Gnd,
Linking with local history, we will compare tifwndwm“”pac“’ﬁ humar activity on
land use maps from the past with present use, : Describes the
local area over time. Why has the way in which
land in Wirral is. used changed? mountains, rivers, lakes, and
We will look at the distribution settlement | The places people live such as
of Wirral's natural resources villages and towns.
Wmmmﬂgﬁ, What is renewuhle RWOWWWW
renewuable energy. resowrces natwre replace,
like wind, water and sunshine.
WawuLnumamiwcamme . peninsula A body of land surrounded by,
Do youw think promoting towrism in Wirral is- | fieldwork The process af ohserving and,
a good idea? Why? collecting data ahout people,
aultures, and natwral
How can we make Wirral more sustainable? enwironments
What can we do to help protect our wildlife | sustainable | A process or state can he
and coustline? maintained at a certain level for
as long as is wanted
, , , , Is wind farming good or bad, for Wirral? Greenwich An imaginary line that, similar to
e will expand our map reading skils B USing: | gy i G roen, Belt land, and. why s it under | Meridian the equator, divides the earth into
ugmlpomi&oﬂ‘a,compqs&,ﬁmu"-}@m threat in Wirral? eastern and western hemispheres
(prcwvssmg,wéﬁlgm)g.ﬂd,r%ﬂermam . The dist east or west of the
Ordrmanurveg,nwps,wwhsymbcl&and,heg& longitude : dian (G o)
Why is map reading a usgful skill? Did you know Wirral is ahout 15 miles (24 oo _ip_rhfw h h or soutl oj&tha

km) long and 7 miles (11 km) wide?

eguator.




